   resolução       
 1-a-isosceles
        b-escaleno   
         c-equilatero
        d-escaleno
   .a-acutângulo
   b-acutangulo
c –retangulo
  d-retangulo
   e-obtusangulo
  2-a-isocesles
          b-escaleno
           c-escaleno
             d-isosceles
     e-escaleno
     f-escaleno
  paralelogramo
  a-trapezio
     b-quadrado
      c-retangulo
        d-retangulo
       e-retangulo 
        f- losangulo
        3-120
       4-x=105
             y=210
  5-x= 120
           x=180
     6-d
      7-x=180
       8-x=90
                  y=140
           9-x=30
             y=60
      10-a-x=36;y=23
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